Some examples of using the CSE to:

o Define a C# class with properties and methods

e Create an instance of that class instance

e Modify the properties of that class instance

e Execute a method in that class using
o Explicit arguments
o Arguments which are the values of properties of the class
o
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using System;
public class MyClass

{
public MyClass(string _Argl, Int32 _ArgZ, double _Arg3)
{
this.Argl = _Argl;
this.Arg2 = _ArgZ;
this.Arg3 = _Arg3;
¥
public string Argl{ get; set; }
public Int32 Argz{ get; set; }
public double Arg3{ get; set; }
public object[] Methodl(string argl, Int32 arg2, double arg3)
{
object[] res = new objectl[l{argl, arg2, arg3};
return res;
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APL+Win can use C# 6666 77.7777
3
L Ocse 'SetValue' 'mcl.Argl' 'new text value'
0
<0 Ocse 'SetValue' 'mel.Arg2' 555422
0
o Ocse 'SetValue' 'mel.Arg3' 0.4532
0
< pO+«abe+0Ocse 'GetValue' 'mel.Methodl(mel.Argl, mcl.ArgZ, mcl.Arg3)’

new text wvalue 555422 0.4532

.
4 (I

Feady _ E’l—fl—_ml—l—l_l— /J




W APL+Win - [S <M> =1

% File Edit View Objects Walk Tools Options Window Help -] =] =]
BEEH & PDERR EE.aX|w > BE MR B | T

using System; "
public class MyClass
t =
public MyClass(string _Argl, Int32 _Arg2, double _Arg3l)
i
this.Argl = _Argl;
NI this.Arg2 = _Arg2; I
I this.Arg3 = _Arg3; 1
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public string Argl{ get; set; }
public Int22 Arg2{ get; set; }
public double Arg3{ get; set; }
public cbject[] Methodlistring argl, Int32 arg2?, double arg3l)
i
object[] res = new objectll{argl, arg2, argl};
return res;

]
[S]

<« [ b
Ready 7 2%




